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That is a corrosive acid.
‘We need to neutralise it.
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1 Look at the picture. What type of substance will neutralise an acid?
Another mechanic suggests using one of the other substances in the picture to neutralise the acid.
2 a
Which of the materials shown in the diagram would not neutralise the spilt acid?

b
Explain why this material cannot be used.

3 The car mechanics decide to use the sodium hydroxide drain cleaner. The word equation for the reaction is

sulfuric acid + sodium hydroxide ( sodium sulfate + water

Each sentence below contains a mistake. Cross out the incorrect word and write in the correct one.

a
Neutralisation is a physical change because new substances are formed.

b
They could use an adjudicator to show when the acid has been neutralised.

c
When the neutralisation is complete there is only sodium hydroxide left in the water.
d
Sodium sulfate is one of the reactants in the reaction.

4 Find out about some other uses of neutralisation reactions and describe them.

I can…

recall that neutralisation is the chemical change when acids react with alkalis

identify the reactants and products in a word equation

explain some uses of neutralisation.
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